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Golomb [1, pages 81-84] shows that we can represent multidimensional polyominoes as graphs,

each vertex of the graph being the center of a cell, and each edge being the line segment connecting

the centers of adjacent cells. The dimension of the graph (and its source polyomino) is that of the

convex hull of the cell centers. Golomb notes that the number of unoriented n-ominoes of dimension

n�1 is equivalent to the number of free trees with n nodes (A000055). For unoriented polyominoes,

chiral pairs are counted as one.

To enumerate n-ominoes of dimension n�3, we want to reduce the dimension of each polyomino

graph by a removal process in order to obtain a small number of irreducible canonical graphs

that we shall call trunks. First we align the graph edges with the Cartesian coordinate axes. In

the removal process, an edge that is not parallel to any other edge is removed by changing the

coordinate along an axis parallel to it to be the same for all vertices. In the first removal process,

we remove any vertex and the single edge to which it is attached if that edge is not parallel to

another edge of the graph. Our second removal involves a vertex connected to exactly two edges,

neither of which is parallel to any other edge. We can eliminate this vertex by removing just one

of the two edges. We shall not do this if it causes a new edge to arise elsewhere by bringing two

other vertices into proximity. Note that each removal reduces the order of the polyomino by one

and also reduces its dimension by one, so that the di↵erence between the order of the polyomino

and its dimension is unchanged.

It is not di�cult to determine all the trunks that can arise for n-ominoes of dimension n�3.

For each trunk we can determine a generating function that will indicate the exact number of

n-ominoes that reduce to that trunk. There are separate generating functions for unoriented,

chiral, and asymmetric n-ominoes. In addition, we can distinguish trunks of orthoplex polyominoes

from those that have at least one coordinate with more than two values, which we call extended
polyominoes. We sum together the generating functions for each trunk to obtain the generating

function for all n-ominoes of dimension n�3. There are 56 trunks for orthoplex polyominoes and

173 for extended polyominoes. For multidimensional polyominoes we use all 229 trunks.

We have done this process for n-ominoes of dimension n�2. The results for multidimensional

polyominoes are A036364 (unoriented), A036365 (chiral), and A036366 (asymmetric). For ortho-

plex polyominoes we have A036367 (unoriented), A036368 (chiral), and A036369 (asymmetric).
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